Bugel 1

Best te pas

[

AN

12

é

AN
Vi

18

\

22

36

\ o

e

7 A, 2 —

40




Biigel 1

44

49

Dmaj7

54

ANIV4

61

A
)|

A
I

Dmaj7

Gmaﬂ/A A7

B7 E7

C7

70

4)

E7

B7

C7

74

(@]

(@]




Bugel 2

Best te pas

@

12

=

18

0

23

30

§

=

36

fe-

be

&
N

40

o




Biigel 2

44

~—"

A

49

A2

T

Iy
Th
il

54

61

69

HU




Best te pas

Trombonel

V4

raX

Y

VA
| 4

)
4

18

23

6 )

Y

B

1/
| 4

il O
Z

o

b

.'.'

36

40

)




Trombonel

s

44

o

hl O

2
T

Q|

Cmaj7

49

)
hl D

S

o

ol

be-

54

61

Vi

Cmaj7

Fmaﬂ/G G7

A7 D7

B*7

70

hll D

)

4)

D7

A7

B*7

74

(@]

1 e ]

6 )
Ml O




Best te pas

Trombone2

]

6\

e ——

13

Jv

VA

19

AVA

)

26

N
—

6 )

33

be

37

AVAY

41

)




Trombone2

L =4

—

-

45

51

o

hll D

58

)

62

|

69

(@]

(@ ]

(@)




